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Question 1
Question Type: MultipleChoice

What happens when the same username exists in Splunk as well as through LDAP?

Options: 
A- Splunk user is automatically deleted from authentication.conf.

B- LDAP settings take precedence.

C- Splunk settings take precedence.

D- LDAP user is automatically deleted from authentication.conf

Answer: 
C

Explanation: 

Splunk platform attempts native authentication first. If authentication fails outside of a local account that doesn't exist, there is no attempt

to use LDAP to log in. This is adapted from precedence of Splunk authentication schema.



Question 2
Question Type: MultipleChoice

Which Splunk forwarder has a built-in license?

Options: 
A- Light forwarder

B- Heavy forwarder

C- Universal forwarder

D- Cloud forwarder

Answer: 
C

Question 3



Question Type: MultipleChoice

Which of the following is an appropriate description of a deployment server in a non-cluster environment?

Options: 
A- Allows management of local Splunk instances, requires Enterprise license, handles job of sending configurations packaged as apps.

can automatically restart remote Splunk instances.

B- Allows management of remote Splunk instances, requires Enterprise license, handles job of sending configurations, can automatically

restart remote Splunk instances.

C- Allows management of remote Splunk instances, requires no license, handles job of sending configurations, can automatically restart

remote Splunk instances.

D- Allows management of remote Splunk instances, requires Enterprise license, handles job of sending configurations, can manually

restart remote Splunk instances.

Answer: 
B

Explanation: 



https://docs.splunk.com/Documentation/Splunk/8.2.2/Updating/Deploymentserverarchitecture

'A deployment client is a Splunk instance remotely configured by a deployment server'.

Question 4
Question Type: MultipleChoice

Consider a company with a Splunk distributed environment in production. The Compliance Department wants to start using Splunk;

however, they want to ensure that no one can see their reports or any other knowledge objects. Which Splunk Component can be added

to implement this policy for the new team?

Options: 
A- Indexer

B- Deployment server

C- Universal forwarder

D- Search head

Answer: 

https://docs.splunk.com/Documentation/Splunk/8.2.2/Updating/Deploymentserverarchitecture


D

Question 5
Question Type: MultipleChoice

After an Enterprise Trial license expires, it will automatically convert to a Free license. How many days is an Enterprise Trial license valid

before this conversion occurs?

Options: 
A- 90 days

B- 60 days

C- 7 days

D- 14 days

Answer: 
B

Explanation: 



https://docs.splunk.com/Documentation/Splunk/8.2.3/Admin/TypesofSplunklicenses

Question 6
Question Type: MultipleChoice

A log file contains 193 days worth of timestamped events. Which monitor stanza would be used to collect data 45 days old and newer

from that log file?

Options: 
A- followTail = -45d

B- ignore = 45d

C- includeNewerThan = -35d

D- ignoreOlderThan = 45d

Answer: 
D

https://docs.splunk.com/Documentation/Splunk/8.2.3/Admin/TypesofSplunklicenses


Question 7
Question Type: MultipleChoice

After automatic load balancing is enabled on a forwarder, the time interval for switching indexers can be updated by using which of the

following attributes?

Options: 
A- channelTTL

B- connectionTimeout

C- autoLBFrequency

D- secsInFailurelnterval

Answer: 
C

Question 8
Question Type: MultipleChoice



The LINE_BREAKER attribute is configured in which configuration file?

Options: 
A- props.conf

B- indexes.conf

C- inpucs.conf

D- transforms.conf

Answer: 
A
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